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QUESTION NO: 1

What is required of your nodes to detect duplex mismatches? (Choose all that apply.)

A. Duplex of both devices must be identified as full or half

B. Ensure corresponding values for each interface are different

C. The nodes must support topology and be interconnected

D. Unify the duplex mode configuration on neighboring interfaces

ANSWER: A B 

QUESTION NO: 2

What is the most time-efficient way to create a report in NPM that shows the top 50 interfaces by percent utilization?

A. Create an interface report and use a filter to restrict to the top 50

B. Edit the default top 25 interfaces by percent utilization report and update to the top 50

C. Run the default top 25 interfaces by percent utilization report for different timeframes

D. Create a new advanced SQL query report

ANSWER: A 

QUESTION NO: 3

When you configure a report, you can limit access to specific users.

A. TRUE

B. FALSE

ANSWER: A 

QUESTION NO: 4

The Orion platform supports agent-based monitoring for which OS types? (Choose all that apply.)

A. Sun Solaris

B. IBM
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C. AIX Unix Agents

D. Windows

E. Linux

ANSWER: A B D 

QUESTION NO: 5

What is required to monitor tenants in your SDN environment with NPM Cisco ACI monitoring? (Choose all that apply.)

A. View your SDN environment in Orion Maps

B. Add an APIC node to NPM

C. Enable API polling on the APIC node

D. Enable API polling on all ACI devices

ANSWER: B D 

QUESTION NO: 6

Which metrics can NPM monitor on an Ethernet switch? (Choose all that apply.)

A. Configuration changes

B. Buffer misses

C. Duplex mismatches

D. CPU utilization

ANSWER: A B C 

QUESTION NO: 7

How many agents does NPM require for Quality of Experience, NetPath, and system monitoring on the same Windows 
server?

A. 3

B. 1

C. 5

D. 2
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ANSWER: D 

QUESTION NO: 8

Half of your objects in a nested map are down, but the top level map is up. What is the cause?

A. You set availability thresholds for devices to above 50%

B. You set availability thresholds for devices to below 50%

C. You set map status thresholds to above 50%

D. You set map status thresholds to below 50%

ANSWER: D 

QUESTION NO: 9

What is the average resource consumption of an agent?

A. Less than 1% CPU, no storage because the agent is 1% in memory for faster access

B. Between 1-2% CPU if the bandwidth is less than 8 KB/s

C. Less than 1% CPU, max 1 MB of memory, 1 MB storage

D. Agents run as a virtual process and do not require local resources

ANSWER: C 

QUESTION NO: 10

You can apply Universal Device Pollers to which object types? (Choose all that apply.)

A. Interfaces

B. Nodes

C. Volumes

D. Applications

ANSWER: A B C 
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